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Run 5272 quartetwise, Asyms0 (Raw): All

L

quartetwize_asymi

42932
B2.2
1.059a+04

Enlries
Mean
Sid Dav

I | 1 :'»«’u'lﬂi:':l

Doos

—500

0

500

1000

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 32.444172)

500

400

300

200

100

0

Run 5272 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

__ A Enfries 259
— Mean 1927
B Std Dev  3.Bde+04
L .IJ_|-|-L_L PR T T N T T N T T N N T N O 0 O O B 3;1[;3

-100

0

100

200

300

400

500

600 00

HelNSamples0)/|FosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 32.444172)

500

400

300

200

100

0

Run 5272 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5272 quartetwise, Asyms0 ({Raw): Beam ON, Laser OFF
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Run 5272 quartetwise, Difts0: All
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Run 5272 quartetwise, NegHelAccO/NSamplesQ: All Run 5272 quartetwise, NegHelAccO/NSamplest: Beam OFF
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Run 5272 quartetwise, PosHelAccO/NSamplesC: All
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Run 5272 quartetwise, Sums0: All
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